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B(y)=L )

1

Thee are @WSWW
Dz,{h %W
£1(x) 2 b £ -FE

h>o

4) Letp and q be real numbers and let f be the function defined by

d |
< T < « :
oo iz g = O+ 2p+2()

a) Find the values of g, in terms of p, for which fis continuousat x =1

b) Find the values of p and g for which fis differentiable at x=1

c) If p and q have the values determined in partb, is f” a continuous function?
Justify your answer.




A function f 1s continuous on the closed imcr\'al[ 3. 3] such that f(-3)=4 and

f(3)=1.The functions /" and /" have the properties given in the table below.

x=-1 | -l<x<l|x=1|1l<x<3

o Fails to . i : .
Positive . Negative | 0 | Negative
exist

o Fails to . L
Positive . Positive Negative
exist .
cciu e ¢V

What are the x-coordinates of all absolute maximum and absolute minimum points
of f on the interval [-3, 3] ? Justify your answer.

What are the x-coordinates of all points of inflection of f on the interval [-3, 3]?

Justify your answer.,

On the axes provided. sketch a graph that satisfies the given properties of f.
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Since f'(x) is negotive on (-1,1) ond (1,3), £(x) is
decredasing on these intervedls. Therefore, f(x) has
dan obselete minimem ot x = 3.
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